ERR19FE FEFPEISFSIBR—ER (3. LHS)

o0110000000

& Al

I EEFXEH A

I =
(Z5E5)
5

SN IE EHEXH

% =

&

A aEU

2 Y

6 O
1|/l0 0o|ooooooo 00000 |000028000000000000 00340 900010 |- —— SDDE

6 O

2 |0000| 0000000000000 |0D0O00|0000000 0=630 30000 O 300 O
goooooomomoooa _ 7 0

3 |o00o0 000000O000000000 0000|0000 0O=150000000000¢ 400 2000 0 200 ]
6 O

4 (0000 | 0D0O0000OO0O0O00OOO0 |0 O 0O|0000000010000000000 5000 O 600 a
6 O

5 |0 O|oooooooo 0O 0O 0O|0ooooooooo 2000 0 S0 0 a
o o o 7 0O

6 (0000 | 0000 Oooooooo 0o o 000000000002400000  799.770 1,8000 O 300 a
O 0|00D0000000ooooooo 7 0

7|0 u|ooooooon 0 0O 0|0D017000000000000000000 40000 (30 0O 0

8 |0Oooo ooonooooooooon 0O 0O 0O|0D00 O=s400000 0O=7.50 4,2000 O > U |
oo 40 0

9 |0 0 oooooooooooood 0 0O 0O|0D00 DO=7400000 O=7.50 2,3000 O 8§ U |
oo 300

100000 oooo22i00nooono 0000 |0D000000 O=18800000=5.00 1,8000 0 6 0 |
goodo 30 0
do0ooOooooooooo 000 O0=8000000 O=1700 6 O

noooo oog onooo 00 O=7.50000 0O=1.50 2,70000 (40 0O :
000 0=8000000 O=1500 6 O

12 |0000 | 0000000000000 (o000 00 O0=7.500000 0=2.50 3,60000 |20 O m]
0

13|0000 | D00014000000000 0 0 0O|0oooooooooog g=1s00 2,3000 0 EDD m]
0

14 |0 0| 0oooooooooo 00000 |00 O=s8,0000000 O=10,0000 2000 0 EDD |
00000000000000 000 O=2100 6 O

15 |0 0| 0000000000000 |00000 |0000000D0000000 000 O=4200 0
000000 000 0=1000 40000 |20 0
00000000000 02.50x002.5000=00 6 O

16|0000 | D0Do0oooog oooao eiatalalatalatalala 20000 [20 0 m]
do00oO0OoOoOoooooo 00000 1,0000 O=1600000000 O=500 6 O

lrjoood ooog oooo 000000 o=500 30000 |20 0O .
12 O

18|0000 | 0D0D0ooooooooo 00000 |0000000 00000000=1,5400 5000 O 200 ]
0000 0=110000=4.000000000 0=00 6 O

19 |O 0| 0o00ooo o 0o o 0ooo ooo 10000 |20 O O
Jodoooooooooooo ooooooo o=171g 6 O

20\0000) gpppopoooooooo |99 80 00000000e 750 mo0000000e 130500 20000 [a0 0] ©
goooooogoooooa 0000o0oo0o oO=1840 6 O

21|oooo do0oooooooooo oooo 00000000¢ 7501000 MO0000000¢ 130500 30000 |40 O 0
goodo 6 0O

22 O goo0ooooooooooo doooo @ 130400000 1560 2000 0 200 a
6 O

23|0000| 00000000000000 |00 00 |00000000000m 4,0000 O c0 0 O
5 0O

24 |\0000 BBDDDDDDDDDDDD 0000|00000 0D0D0DOg@ 660 O=300 2000 0 300 a
jooooOooooooooa 00000000 DODDOOO0O0O0O00 1400 6 O

250000 gooooooooooooo uooo 000 ¢ 1500 0O=58.120 30000 |40 0 O
doooooooooooo 00000000 DO0DODOO0OO0O0O00 1000 6 0O

26 0000 gooooooooboooa nooo 000 o 1500 0O=48.660 30000 (40 0O O
ooooo _ _ 6 0O

27 O Jo0o0ooOoooooo ooooo 0000000 0=8,5000 00000 O=3,0000 8000 O 1000 ]

28 O Jo00oO0ooOooooo 00000 |000000040000000000000 2,700DD% |
00o0o0o0o000000oOoOoOaQ 5 O

29 |0 O] 0ooooooooo 0o o o oooooooooo 1,200DD73|]|] ]

gooooooooooooOoOooOoOoOoOoOOOoCoOoOoOoOooOOoOoOoOooon

12)




